
SAP ABAP table EQUZ {Equipment time segment}

EQUZ

MANDT [CLNT (3)]

EQUNR [CHAR (18)]

DATBI [DATS (8)]

EQLFN [NUMC (3)]

IWERK [CHAR (4)]

SUBMT [CHAR (18)]

HEQUI [CHAR (18)]

INGRP [CHAR (3)]

GEWRK [NUMC (8)]

ILOAN [CHAR (12)]

KUND1 [CHAR (10)]

KUND2 [CHAR (10)]

KUND3 [CHAR (10)]

RBNR [CHAR (9)]

CRID

MANDT [CLNT (3)]

OBJTY [CHAR (2)]

OBJID [NUMC (8)]

 EQUZ-GEWRK = CRID-OBJID 
0..N

{0,1}

EQUI

MANDT [CLNT (3)]

EQUNR [CHAR (18)]

 EQUZ-EQUNR = EQUI-EQUNR 

0..N

1

 EQUZ-HEQUI = EQUI-EQUNR 0..N

{0,1}

ILOA

MANDT [CLNT (3)]

ILOAN [CHAR (12)]

 EQUZ-ILOAN = ILOA-ILOAN 
0..N

1 KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 EQUZ-KUND1 = KNA1-KUNNR 

0..N1  EQUZ-KUND2 = KNA1-KUNNR 
0..N

1  EQUZ-KUND3 = KNA1-KUNNR 0..N1

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 EQUZ-SUBMT = MARA-MATNR 

0..N

1

T000

MANDT [CLNT (3)]

 EQUZ-MANDT = T000-MANDT 

0..N

1

T024I

MANDT [CLNT (3)]

IWERK [CHAR (4)]

INGRP [CHAR (3)]

 EQUZ-INGRP = T024I-INGRP 

0..N

{0,1}

T352B

MANDT [CLNT (3)]

RBNR [CHAR (9)]

 EQUZ-RBNR = T352B-RBNR 

0..N

{0,1}

T399I

MANDT [CLNT (3)]

IWERK [CHAR (4)]

 EQUZ-IWERK = T399I-IWERK 

0..N

0..N


